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1. Answer the following as directed : lx7=T
qsfr{rnrfiAzf.tt1c|ffG-s-{ft{r:

(a) Who was the chief exponent of
statistics.

'tRxc'r RtoFqTr sRqr{sr 6E6 qRql

(b) Compute modc of the data for which
mean a:od median are given 30 and 32
respectively-

flnn sqn .r9 qr r{rql !6q 30 EFr 32 vFr

'KT 
itFFF 6tTill iF[ |
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(c) is a bar graph with no gap in
between.

( FiU in the btank I

kcq c+ ruft{ qK qtw c$K-{r qtfi }fe,

rRr
('{rAftT{qq{r )

(d) What is zero correlation?

1al q{{mftr

(e) Write the formula of calculating
percentile point.

lslTl RT qm wn Tqch ft{t r

A What is the value of kurtosis in a
normal distribution?

?r-r:rlta fuq qbrc qfirtrsT qr vttrtR :nT

ftqFi2

(g) Which of the following statements is
true regarding negatively skewed distri-
bution?

{qiNT fiqTsr Ruqfi cEls v6 5Effi1 qsl
rrq ?

0 The mean is higher than median
and mode.
q{r{t <r <qdr$s?s qi9 cqR r
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/r'r) The median is lies between mean
and mode.

cqF[ r$ Er+ {q.fff IlEtr qt6$ |

(iiil Ttre median is lower than the mean.

TCFI fl$sr{ TC I

/iul None of the above

sqrK 6{rfir6n{Q{es

( Choose the correct answer )

(irnffirnQtfrso )

2. Answer the following questions : 2x4=8

sfi cyq< Ge-{fiTr :

(a) Find out the median from the following
set of scores :

s-qs fr{r 1lftc{< "m c{Ftt fifi Fl :

t2 24 rO 35 29 42 19 tS
(b) Wite any two principles of constructing

a graph.

cqcF{qffi-{R cqn{$1 ft&ft{ r

(c) Write any two advantages of product
moment method,

€.f'Fq {cr ffi& fr crr{r $r IRql fr{I r

/d/ What is normal distribution?

ttqfr+Rqcftaftr
24Al7Ot6 (htmOwr)
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Answer any three of tlre following questions :

5x3=15
s4r e!rc{< fr cqm frFiR usl frcl :

(a) Write the functions of statistics.

'rRl\lilfteH'rFrfiT{ft{ r

(b) Determine standard deviation from the
following scor,es :

vfi {lftcT< "Rr Ir++ RI'& ff.(q q{ :

l8 25 2t 19 27 31 32

(c) Write about the drawing procedure of
cumulative frequency percentage curve.

cd fistTsl rsKT 6+K qw ffi& cyz{
F+r r

Determine coellicient of correlation by
using rank difference method from the
following ranks of two sets :

-e,T{iTFc1n $K QFr6{FK eRr{Fr 
"nf+r mfr

ri{{r{ +R Tq?rti eflr{ fifi F{r :

Test I i 4 3 I 6 a 2 S ?
'lbst 2 : 3 1 2 7 8 4 6 s

Write the properties of normal
probabilit5r curve.

?TsrR-+wRffTq c{BE{ {*-{Trft{ r

(d)

(e)
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4. Answer the following questions : lox3=30
wr< sfiT<Us{frfl:
(a) What is mean? Write its two merits.

Determine mean of the following data :

2+)+6=19
q-s ft? t{r fb f8{t fr{r I w{ sqrnnq 'rqt
q-s ft.f{ q{ :

Or / Eltll

(b) What is averag're deviation? Determine
average deviation of the following table :

2+8= lo
rrp RI'& ftr q< qftsR-dilm 

'l9 RI,&
ft"fsT-{r t

Class hlennl
4t?qs1lc

FreEEncE

?Il\TFrgl
26-28
23-25

2
3

24Al?06

Class Intennl
41?Esffi

FreqEnc!
lFt$tFt'sr

90-99
8H9
7.-,*-79

60-69
50-s9
4049
30-39

5

6
9

t5

5
a

JV=50

( Tum Ouer )
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Class Intennl
aqcwn

Frquercy
Tl?i?l{sl

20-22
L7-19
t4-L6
11-13

8-ro
s:7

5

7

10

5

6

2

lI=40

What is histogram? Draw a histogram
and a frequency polygon on the same

axis from the following table (use graph
paper) : 2+4+4=lO

q{vFa ftr qq qfrrn fi qFF q?RTqts

.{br qwstrq qtr .{br <FK{FM {qpq qwr
{-{r (sr{ TFrq <rRK qffq) :

Class hterwl
a?qwn

ftquen4
ffiKKUT

6W
55-59
5Gtr
45'419

40-4,4

3s-39
30-34
2V29

2

4

8

10

6

4

4

2

JV=40
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Or / qnfn

Determne combined standard deviation
from the following data :

strt sqK em qqs n{T RFtr frfi q{ ,

FirstGroup
eq\@t

*andGroup
ffi*m

]v

M
SD

40

23
10

20

15

5

What is percentile rank? Determine
PR75 and PR94 from tlle following
table : 2+4+4=19

lsTtl Aq fr ? Wr vtfrfrFr{ 'Kl PR75 qFF

PR94 ftfiwr :

Ctass hlennl
a?qq+n

fVqtmq
lFfStF sI

90-9'4
8H9
8H4
7*79
7(.-'74
65-69
6H4
55-59
5G-54

2
5

5

12

20
l6
7

5

3

ff=75

10

n
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Or / qwl

A Mean of a normal distribution is 56 and
standard deviation is 6. Assuming the
distribution to be normal, answer the
followirrg : 5+5= 1O

cfrfir qr trqfr+ ffwqs rr9 R? 56 crf
ffi+ ftFfr R? 6. R-q{q'fi :rqF6rvr-(ir

ffi fi qRtqqqsfuiq<t-rrqftfl:

(ii Calculate t}re percentage of scores
falling between 44 and, 62.
44 EFF 6u{ {tW {tiFl ,|Wr {ft fifi
Ti[ |

{u/ Find out the percentage of cases
above 51.

5lr{ €'FK rrsFifi {€l fi{T T{ |

***
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